


Part Number

CW702SA1-211
CW702SA1-311
CW702SA1-321

Cwa34822-101
CWAC1183-101
CWAC218-901

CWw30014-218
CWPD1105B-101
CWTAYNO31-150

CWWBKNO031-007

CWPD2007J-101

CW31759-101
CWEANNO016-013
CWAC1177-101
CWAC1178-101

702 Vertical Knee Up & Dip Bench

Description

ASSY,FRAME,MAIN,702,SKY WHITE
ASSY,FRAME,MAIN,702,STONE HG
ASSY,FRAME,MAIN,702, TITANIUM HG
ENDCAP, REC TUBE, 2X4, BLK PLASTIC
LABEL, "ASSEMBLED IN THE USA"
LABEL, WARNING, SERIOUS INJURY
HANDLE END CAP W/SET SCREWS, DIA 1"
HNDL RETAINER RNG, W/SS,1.040" |.D.
CUT PIECE, CREPE, 3/8 THICK, 3.75 X
PAD,9X17,4HOLES,W/BP,BLACK

SCREW, BUTTON HEAD, BLK XYLAN, 5/16
SCREW, BUTTON HEAD, BLK XYLAN, 5/16
WASHER, FLAT, TYPE A, SAE, 5/16 ID
WASHER, SPLIT, 5/16 ID, BL
PAD,6X12,2HOLES,W/SLIP&B/P,BLACK
LABEL, PRECOR USA ICARIAN LINE
LABEL, SMALL PRECOR USA ICARIAN LIN
SCREW, SET, SCKT, CUP POINT, 8-32 X
FLOOR PROTECTOR, RUBBER, 4.563 X 4.
FLOOR PROTECTOR, RUBBER, 2.563 X 6.

Bubble Number

1.01
1.11
1.12
3
4
6
9
10
11
12.01
14
15
16
17
18.01
19
20
36
501
502


https://www.gympart.com/itemdesc.aspx?ic=PSP1392&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1071&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP806&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1084&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1833&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1425&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1227&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1134&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1261&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1260&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	702_Vertical_Knee_Up_&_Dip_Bench_Diagram
	702_Vertical_Knee_Up_&_Dip_Bench_Parts List

